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4. The larger of two numbers is 3 more than twice the smaller.
Thefsumof the numbers has a maximum value of 63.
\eb %= smaMer &

Ix+> :\0-»’60("&;
N+ (24D E 6D

HOMEWORK

Worksheet HW 1.3
Simple Inequalities

Write an inequality to model the situation.
1. Twice a number is at most 12 mdfe than the number.
AN —N—A - N
ler & = numboer
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2. Five times a number decreased by 7 is greater than 20.
\et o= numloer

Ho—1>10

3. Anumber is less than twice|the resultfof the number

minus 8. (o4 Nwmber

X< 2(x-8)

5. Holly is three years younger than Brian. The sum of their
ages is greater than 43.

let x = Brian's oge
N- = Hol\\f's age

X+ (X=3)74D



